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3. Use the given graph of f(x) = +/x to find a number & such
that
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closed interval [a, b] and let N be any number between f(a) and f(b), where

The Intermediate Value Theorem Suppose that f is continuous on the
f(a) # f(b). Then there exists a number ¢ in (a, b) such that f(c) = N.
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The figure shows the graphs of four functions. One is the
position function of a car, one is the velocity of the car, one
is its acceleration, and one is its jerk. Identify each curve,
and explain your choices.
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q The altitude of a triangle is increasing at a rate of 1 cm /min
" while the area of the triangle is increasing at a rate of

2 cm®/min. At what rate is the base of the triangle changing
when the altitude is 10 cm and the area is 100 cm?*?
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